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QUESTION 1

When a COMMIT statement is executed, what happens?

A. All locks held on the database are automatically released.

B. Data stored in global temporary tables is automatically deleted.

C. Open cursors defined WITH HOLD are closed, but their data is retained.

D. The current transaction is terminated and a new transaction boundary is started.

Correct Answer: D

QUESTION 2

Which type of temporal table can be used to store only time-sensitive data?
A. Bitemporal

B. Time-period

C. System-period

D. Application-period

Correct Answer: D

QUESTION 3
The EXCLUSIVE MODE option of the LOCK TABLE statement is used to prevent which of the following?
A. Concurrent application processes from performing any operations on the table.

B. Concurrent application processes from performing any read-only operations on the table.

C. Concurrent applications processes that are running under the cursor stability (CS) isolation level from performing

read-only operations on thetable.

D. Concurrent applications processes that are running under the uncommitted read (UR) isolation level from performing

read-only operations onthe table.

Correct Answer: A

QUESTION 4
Which isolation level offers the greatest protection of data but provides the least amount of concurrency?

A. Read Stability (RS)
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B. Cursor Stability (CS)

C. Repeatable Read (RR)

D. Uncommitted Read (UR)

Correct Answer: C

QUESTION 5

Which of the following privileges allow a user to update the comment on a sequence?

A. ALTER

B. USAGE

C. UPDATE
D. COMMENT

Correct Answer: A
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